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int count_pair(int x, int y, int z)
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o 5< N <5000
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o 3t 7HO] HIAE Ao]AofA Fo2]= NoJ b Mojzt & off, 5 < M < 5000

lo

o] ZAoA 1ot A

$-70]7] QFTHNOT adaptive). 0| A& §7} L#o]e] o] 45 Z7]o] A E o]
o] whet WA oS ojugitt.
i |

Z}7}+ 9] guess_palindromicity &&ufrt ofefje} 2 HhAlo g2 H4g ufict TFAilo] AlEo] Hh= 4
= BE HAE Ao]A9] guess_palindromicity SE0|A €& HS49] F4=gko|tt.

7} guess_palindromicity S| 4], count_pair 2] §& 3145 A, find_character &2 5 &

542 Bet .

oz o] YAA O 7 £751A] ALY guess_palindromicityZ} HEERSH Zho] ZEH 79 040 Hof
FIt}. guess_palindromicityZ} BFeet gho] 9hor-E off Foj&= o= ot 9] 3o} Zr.

z3 A4
A<2N,2<B<N 15
N<A<2N, B<I1 50
J]+2<A<N,B<1| 70
A=|J]+2,B<1 90

A<|§]+1,B<1 100

of| 4| 1

N =6,5=11,2,3,1,2,1]2}1 S}&}. 18|t} 7} guess_palindromicity(6)2 S &3St
of| 7} ofefjof] Hojzich.

il
4>
for
M
lo

Call Return

count_pair(0, 1, 2) 0

count_pair(3, 4, 5)

count_pair(0, 3, 5)
find_character(2, {0, 1, 3, 4, 53})
find_character(1, {0, 2, 4})
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Sample grader
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e Linel: N

e Line 2: S[0] S[1] ... S[N —1]

z=2H0] AcceptedZ T EH, HE T o5& Correct : A BE &SI} 7] 4, A& count_pair
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e Wrong Input : & §Alo] ZEE It
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